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,
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Here
, player 2 has a strictly dominated

strategy : B is dominated by C since

2>0
,
2>0

,
2 > 1

.

Eliminate B.

Player 2

Player
☐

I E

[3,2] [0,2] F

Now
, player 1 has a strictly dominated

strategy : D is dominated by E since

3 > I
,

I > 0

Eliminate row D.

Player 2

A C

Player E

1É F



There is no more strictly dominated

strategies so this cannot be reduced .



Player 2

"¥÷÷÷⇒:⇒÷::I [3,1] [2,0] Co ,
2] E

While we do not have a strictly
dominated strategy for either player ,
we have a dominated strategy for

Player 2 :

A is dominated by C since :

2>-2
, 23 1

,
230

Eliminate column A.

Player 2

Player
☐

I

.

É

Here
, player 1 does not have a

dominated strategy . We cannot reduce this

any longer .



Player 2

⑤
"a.y÷÷#÷÷÷ :I [0,0] [2,3] [3,0 ] E

Here
, player 2 has a strictly dominated

strategy : C is strictly dominated by B
.

2>0
,
3>0

,
370

Eliminate C.

Player 2

A

may:=÷÷⇒ :I [0,03 [2,3] E

Player 1 has a strictly dominated strategy :
E is strictly dominated by ☐ since

I > 0
,
370

Eliminate E.

Player 2

A

Player/_# ☐

1É F

There are no more strictly dominated

strategies so the iteration stops .


